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1. WRITE triads on the bottom staff as indicated.
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2. IDENTIFY these triads BY COUNTING half-steps on the keyboard below.
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4. WRITE triads above these roots.
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5. IDENTIFY these triads.
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6. COMPLETE these triads. The given notes are either 3rds or 5ths.
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7. IDENTIFY these triads.
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8. WRITE triads above these roots.
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9. WRITE these triads given the 3rd or 5th
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10. IDENTIFY these triads.
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11. Compared to major triads
a. augmented triads have
b. diminished triads have
c. minor triads have
12. WRITE the specified triad.
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13. IDENTIFY the following triads as major, minor, diminished or augmented.
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